
Little Cottage Co.
PO Box 455

Berlin, OH 44610
330-893-4212

www.cottagekits.com

© 2008-2009 Little Cottage Co. 

Atlanta Chicken Coop Manual 

®

Tools Needed:
	 -Cordless Drill (12V or higher)
	 -#2 Square Drive Bit
	 -Hammer
	 -Tape Measure
	 -Speed Square



Atlanta Chicken Coop Manual 

Construction Manual              © 2008-2009 Little Cottage Co.                       Page 1

1 2

3 4

5 6

Locate the wheels and the back panel.
Fasten wheels on bottom as shown with 2 1/2” 
deck screws.

Next set up panel as shown. Locate the 3 sides.

  Secure with 1 1/4” screws as shown. Make sure the top plates are flush.



Atlanta Chicken Coop Manual

Construction Manual              © 2008-2009 Little Cottage Co.                       Page 2

7 8

9 10

11 12

Continue with the panels and fasten with 1 1/4” 
screws as shown.  

Next pick up the 3 section wall as shown.

Attach to the wall with wheels and secure with 1 
1/4” screws as shown.

Continue fastening with 1 1/4” screws on all 
corners as shown.

Lay the coop on it’s side as shown. Next install the floor with 1”x1” mesh as shown.



Atlanta Chicken Coop Manual 

Construction Manual              © 2008-2009 Little Cottage Co.                       Page 3

13 14

15 16

17 18

Make sure the bottom is flush as shown. Secure with 2 1/2” screws as shown.  2 screws on 
each side.

Continue fastening the floor.
Next install the bottom rail with chicken mesh as 
shown.

Secure with 2 1/2” screws. Repeat on the opposite end.



Atlanta Chicken Coop Manual 

Construction Manual              © 2008-2009 Little Cottage Co.                       Page 4

19 20

21 22

23 24

Secure with 2 1/2” screws. Continue with fastening.

Next set it up and slide in the dropping pan. Lay the building on the end as shown.

Locate all nest parts. Install the nest floor as shown. Measure 1 1/2” 
from the opneing to the outside of the floor.



Atlanta Chicken Coop Manual

Construction Manual              © 2008-2009 Little Cottage Co.                       Page 5

25 26

27 28

29 30

Make sure the 2x2s are flush as shown. Secure 
with 2 1/2” screws.

Set the building on it’s runners again.

Install the nest side panel as shown and secure 
with 1 1/4” screws.

Make sure the 2x2’s are flush with the inside of 
the opening.

Secure with 2 1/2” screws. Repeat on the other side.



Atlanta Chicken Coop Manual

Construction Manual              © 2008-2009 Little Cottage Co.                       Page 6

31 32

33 34

35 36

Install the back panel. Make sure the top is flush. Fasten with 1 1/4” screws on all corners.

Next install nest box lid as shown. Lay it on it’s side as shown.

Install chicken ramp.  Secure with 2 1/2” deck 
screws.  Two in the back and two in the front.

Continue with the ramp.



Atlanta Chicken Coop Manual

Construction Manual              © 2008-2009 Little Cottage Co.                       Page 7

37 38

39 40

41 42

Next insert the screw from the bottom up as 
shown in predrilled holes. Set the coop back up on it’s runners.

Next install the exterior fence as shown Secure with 2 1/2” screws.

Continue with exterior fence as shown. Then locate the Gable end.



Atlanta Chicken Coop Manual

Construction Manual              © 2008-2009 Little Cottage Co.                       Page 8

43 44

45 46

47 48

Secure with 2 1/2” screws as shown. Next locate the rafters and secure with 1 1/4” 
screws.

Continue with the rafters. Install the roof, make sure the roof overhangs 1” 
on the sides.

Secure with 1 1/4” screws on the bottom corner. Continue with roof.



Atlanta Chicken Coop Manual

Construction Manual              © 2008-2009 Little Cottage Co.                       Page 9

49 50

51 52

53 54

Secure with 1 1/4” screws. Repeat on the backside.

Locate aluminum corners.  Install aluminum corner on top for ridge and 
fasten with white trim nails as shown.

  Install aluminum corners on the outside as 
shown, and secure with white trim nails.

Continue with aluminum corners as shown.



Atlanta Chicken Coop Manual

Construction Manual              © 2008-2009 Little Cottage Co.                       Page 10

55 56

57 58

59 60

Your finished product!


